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abcd 1s a parallelogram with [dc] a
produced to e and ‘Abce‘ = 36° as / /
36°
hown.
shown J

Find (i) |Zabd,

(i) £ |Zbad|.
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In the parallelogram pgrs,
the points 7 and w are on the

diagonal [pr] such that w

|.£ng| = ‘41-1«-‘5;“ : q .

(i) 25 Prove that | pt] = |wrl.

In the parallelogram pgrs,
the points 7 and w are on the

diagonal [pr] such that

|.£ng = ‘41-1«-‘5;“ : q
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(i) 25 Prove that | pt] = |wrl.
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The quadrilateral ABDE has diagonals [4D] and [BE] intersecting at C.
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The quadrilateral ABDE has diagonals [4D] and [BE] intersecting at C.

C'1s the midpoint of both [4D] and [BE].

i) 45 Prove that AECD is congruent to AACB.

(ii) &5  Hence, prove that ABDE is a parallelogram.

C 1s the midpoint of both [4D] and [BE].
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&7 Prove that AECD is congruent to AACB.

2  Hence, prove that ABDE is a parallelogram.
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